In each problem one of its numerical parameters depends on 3504529. Divide 3504529 by 8 and depending on a value of a remainder, R, choose a corresponding value of this parameter.

Use  C =  4    5    6      7    8     9     10     11

For  R =  0    1     2     3     4     5     6        7

[image: image1.png]. The tuning frequency f of an electronic tuner is inversely pro-
portional to the square root of the capacitance C in the cir-
cuit. If f =920 kHz for C = 3.5 pF, find how fast f is
changing at this frequency if dC/di = 0.3 pFfs.




